
3
2

4
5

1

106

11

12

13

15

14

7
8

9

1. NV8015  Tie Rod Assembly
2. NV8020  Bracket

7. NV0866 Lid Stud
8. NV0861 Nylock Nut

3. NV0837 Standoff 1/2 Aluminum
4. JT0872  Internal Lock Washer
5. NV0862  Button Head Screw
6. NV8021  LId

9. JT0859  5/8 SS Washer
10. NV8002  Arm
11. JT0861  3/4 SS Washer
12. NV0876  Hinge Pin
13. JT0869  SS Cotter Pin
14. NV8011  Base

15. JT1815S  Pressure Gasket

IN KEEPING WITH, AND FOR THE PURPOSE OF PRODUCT IMPROVEMENT, JAYCO RESERVES THE RIGHT TO MAKE DESIGN CHANGES WITHOUT PRIOR NOTICE.

	 VITON® IS A REGISTERED TRADEMARK OF DUPONT DOW ELASTOMERS 	

JAYCO NON-VENT HATCH 
NV-8 CAM LEVER PARTS LIST

800-654-9263  •  405-751-6903  •  FAX 405-755-7940  •  WWW.JAYCO.ORG

JAYCO
JAY COURTNEY COMPANY, INC

MADE IN THE USA

	 1.	 TIE ROD ASSEMBLY	 NV8015	 SS & ALUMINUM 
	 2.	 BRACKET	 NV8020	 ALUMINUM 
	 3.	 STANDOFF BAR 1/2”	 NV0837	 ALUMINUM
	 4.	 INTERNAL LOCK WASHER	 JT0872	 STAINLESS 
	 5.	 BUTTON HEAD SCREW 1/4” X 3/4”	 NV0862	 STAINLESS 
	 6.	 LID	 NV8021	 ALUMINUM
	 7.	 LID STUD	 NV0866	 STAINLESS
	 8.	 NYLOCK NUT	 NV0861	 STAINLESS 
	 9.	 WASHER 5/8”	 JT0859	 STAINLESS
	 10.	 ARM	 NV8002	 ALUMINUM	 
	 11.	 WASHER 3/4”	 JT0861	 STAINLESS 
	 12.	 HINGE PIN, 1/4” X 3-1/4”	 NV0876	 STAINLESS 
	 13.	 COTTER PIN	 JT0869	 STAINLESS 
	 14.	 BASE	 NV8011	 ALUMINUM 
	 15.	 PRESSURE GASKET	 JT1815S	 SUPREME65
		  PRESSURE GASKET (SOUR SERVICE)	 JT1815V	 VITON® 
	 16.	 SHOULDER SCREW	 NV8035	 STAINLESS

16



	 1.	 HATCH NUT	 NV8031	 ALUMINUM
	 2.	 HEX CAP SCREW 1/4”-20 X 1”	 NV0860	 STAINLESS
	 3.	 1/4” CUT WASHER	 JT0859	 STAINLESS
	 4.	 ARM	 NV8002	 ALUMINUM
	 5.	 HINGE PIN, 1/4” X 3-1/4”	 NV0876	 STAINLESS
	 6.	 COTTER PIN	 JT0869	 STAINLESS
	 7.	 PRESSURE GASKET	 JT1815S	 SUPREME65
		  PRESSURE GASKET (SOUR SERVICE)	 JT1815V	 VITON®
	 8.	 LID	 NV8021	 ALUMINUM
	 9.	 BASE	 NV8011	 ALUMINUM
	 10.	 GROOVE PIN 1/4” X 1-3/4”	 NV8055	 STAINLESS
	 11.	 ALUMINUM EYE BOLT 1/2”-13 X 3”	 NV8007	 ALUMINUM
	 12.	 GROOVE PIN 3/8” X 3-1/2”	 NV0850	 ZINC PLATED

IN KEEPING WITH, AND FOR THE PURPOSE OF PRODUCT IMPROVEMENT, JAYCO RESERVES THE RIGHT TO MAKE DESIGN CHANGES WITHOUT PRIOR NOTICE.

	 VITON® IS A REGISTERED TRADEMARK OF DUPONT DOW ELASTOMERS 	

JAYCO NON-VENT HATCH 
NV-8 NUT PARTS LIST

800-654-9263  •  405-751-6903  •  FAX 405-755-7940  •  WWW.JAYCO.ORG

JAYCO
JAY COURTNEY COMPANY, INC

MADE IN THE USA

PRE-2018


